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COMMERCE
Paper 11

Time Allowed : 2 Hours] . [Maximum Marks : 200

Note :— This question paper contains one hundred (100) multiple choice questions.

LB

Each question ‘carries two (2) marks. Attempt all questions.

Assertion (A), : Managers who know geography can better determine the
location, quantity, quality and availability of the world’s resources, as well
as the best way to exploit them.

Reasoning (R) : The uneven distribution of resources throughout the world
accounts in large part for the fact that different products and services are
produced in different parts of the world.

Code :

(A) (A) and (R) both are correct; and (R) is the right explanation of (A)
(B) (A) and (R) both are correct; but (R) is not the right explanation (A)
(C) Both (A) and (R) are incorrect

(D) (A) is correct; but (R) is incorrect

According to Michael Porter, success of a certain mdustry in a country is
based on the combined impact of four factors :

(A) Factor Endowments, Demand Conditions, Supported Industries and Firm
| Strategy, Structure and Rivalry

(B) Factor Endowments, Demand Conditions, Related and Supported
Industries -and Firm Strategy, Structure and Rivalry

(C) Factor Endowments, Demand Conditions, Related and Supported
Industries and Firm, Strategy and Structure

(D) Factor Endowments, Supply Conditions, Related and Supported Industries
and Firm Strategy, Structure and Rivalry
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3 Match the items of List II with the items of List I and select the code of

correct matching. The items relate to global trade and protection :

List I - ‘ List II
(@) Ad valorem (1) A fixed amount per unit
(b) Specific (2)  Exchange Controls and export
| ' restraints
(¢) Non-Tariff Barriers (3) A percentage of the value of the

goods imported

(d) Tariffs (4)  Discriminatory taxes on imports
Codes :

@ ©® @© @
a @ @O @ 3
B @ O @ @
€C @ @O @ @
M 1) @ @ 3

4. Which of the following constitutes FDI ?

(A) A speculator trying to make profit by buying company shares on a foreign

stock exchange

(B) A USA based energy company buying territory abroad where it expects

to find oil reserves

(C) A tourist purchasing foreign currency to spend on holiday in another

country

(D) A company signing an agreement with a wholesaler to distribute its

products in foreign markets
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5. The following are the two statements regarding Balance-of-payments effects
of FDI :

Statement (I) : Negative for. the host country initially and pbsitive for the

home country.

Statement (II) : Negative for the home country and also negative to the

host country later.
Indicate the correct code of the statements being correct or incoﬁect :
Code :
(A) Both the statements are correct
(B) Both the statements are incorrect
(C) Statement (I) is correct while statement (II) is incorrect
(D) Statement (I) is incorrect while statement (II) is correct
6. Which of the following about SAARC is correct ?
(A) SAARC has 7 members with the last addition in 2007 being Maldives
(B) SAARC has 9 members with the last addition in 2007 being Afghanistan
(C) SAARC has 8 members W"ith the last addition in 2007 being Afghanistan
(D) SAARC has 8 members with the last addition in 2007 being Maldives
7 Which of the following statements is correct ?

(A) Every member country of the IMF automatically becomes the member
of the World Bank

(B) The World Bank has 30 founder members
(C) India is not the founding member of the World‘ Bank

(D) IMF is the part of World Bank group
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8. The following are three statements about WTO. Indicate the correct code of
the statements being correct or incorrect. - '

Statement (I) : The WTO dictates policies.
Statement (II) : The WTO is for free trade at any cost.

Statement (III) : The WTO believes that free trade promotes and not impedes
economic development.

Code : '

(A) All three statements are correct

(B) All three statements are incorrect

(C) Statements (I) and (II) are correct while Statement (III) is incorrect

(D) Statements (I) and (II) are incorrect while Statement (III) is correct
9.  Full form of QUEST is :

(A) Quick Environmental Study Technique

(B) Quick Environmental Scanning Technique

(C) Quick Environmental Survey Techhique

(D) Quick Environmental Systems Technique
10. The first classical theory of International Trade is given by :

(A) Keynes (B) Adam Smith

(C) Friedman (D) Heckscher-Ohlin

~11.. Creating provision against fluctuation in the price of investment is an example
of which accounting convention ?

(A) Convention of conservatism (B) Convention of full disclosure
(C) Convention of materiality (D) Convention of Consistency

12. X and Y are partners sharing profit and losses in the ratio of 7 : 5. Z, a new
partner is admitted who acquires 1/12th from X and 1/6th from Y. The new
profit sharing ratio will be :

(A 2:2:1 (B) 2z1%:1
() 2:1:2 D 1:2:2
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13.

4.

15.

16.

17.

18.

19.

When the shares are forfeited, share capital account is debited with :

(A) Nominal value of shares (B) Called up value of shares

(C) Paid up value of shares (D) Market value of shares

Excess of cost of investment over paid up value of share is considered as :
(A) Capital reserve ' (B) Minority interest

(C) Goodwill | (D) None of these

In Marginal Costing, sales volume required to produce desired profit can be
find out by the following equation :

(A) (Fixed expenses + desired profit)/P/V Ratio
(B) (Contribution + desired profit)/P/V Ratio

(C) (Variable expenses + desired profit)/P/V Ratio
(D) (Sales + desired profit)/P/V Ratio

Issue of 12% preference shares will ........... debt equity ratio of a corporate
enterprise.

(A) Increase (B) Decrease

(C) Not affect (D) None of these

The opportunity cost approach in Human Resource Accounting was introduced
by :

(A) Rensis Likert (B) Hekimian and Jones

(C) William C. Pyle (D) Van Horne

The accounting standard 2 (AS-2) issued by ICAI deals with :

(A) Valuation _Of Investment (B) Valuation of Fixed Assets
(C) Valuation of Inventories (D) Depreciation of Accounting

Cost audit is conducted under the direction of :
(A) Central Government ) (B) Board of Directors

(C) Shareholders (D) Registrar of Companies
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20.

21.

22.

23.

24

25.

Management Auditor reports to :
(A) Shareholders of the company (B) Company Law Board
(C) Central Government (D) Management of the enterprise

In the short-run, which of the following always gets smaller as output
increases ?

(A) Average fixed cost (B) Average variable cost
(C) Short-run average cost (D) Short-run marginal cost
A competitive firm in the short-run incurs losses. The firm continues production
if :

(A) P > AVC ‘ (B) P = AVC

(C) P < AVC (D) None of these’

The slope of Indifference Curve indicates :

(A) Marginal rate of substitution of X for Y

(B) Prices of X and Y _,

(C) Slope of the budget line

(D) Change in prices

The law of variable proportions examines production function with :
(A) One factor variable and only one factor fixed

(B) One factor variable keeping quantities of othér factors fixed
(C) All factors variable

(D) None of the above

Price discrimination is not possible :

(A) Under monopoly situation

(B) Under any market firm

(C) Under monopolistic competition

(D) Under perfect competition

T.B.C. : 04/18/SET—II 12
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26. The ‘substitution effect’ takes place due to change in :
(A) Income of the consumer
(B) Prices of the commodity
(C) Relative prices of the commodities
(D) All of the above
27. Relationship between AR, MR and price elasticity of demand is :

(A) MR = AR + [e -1/e] (B) MR = AR x [e -1/e]
(C) AR = MR x [e -1/e] - D) MR = AR x [ele -1]
28. In free economy, the allocation of resources is determined by :
(A) Consumer preferences | (B) L'evel of profit of firms
(C) Manufacturers preferences (D) Supplier preferences

29. Business Economics is also known as :
(A) Managerial Economics
(B) Economics for executives
(C) Economic analysis for business decision
(D) All of the above

30.  Pricing strategy in which prices are set lower to actual price to trigger short
term sales is known as :

(A) Short-term pricing (B) Promotional pricing -
(C) Quick pricing (D) Cyclical pricing
31. Internal sources of finance do not include :
(A) Better management of working capital
(B) Retained earnings
(C) Trade credit

(D) Issue of debentures

T.B.C. : 04/18/SET—II 14
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32.

33.

34.

35.

36.

37.

If nominal rate of return is 10% p.a. and effective rate of interest is 10.26%

p.a. Determine the frequency of compounding.

A 1 (B) 2

(C) 3 D) 4

The slope of characteristic line is estimated with :

(A) Unsystematic risk (B) Systematic risk
(C) Beta D) Market risk premium
An increase in discount rate will :

(A) Reduce the preseﬂt value of future cash flow

(B) Increase the present value of future cash flow

(C) Have no effect on net present value

(D) Compensate for reduced risk

Which of the following illustrates the use of a hedging approach to financing

asset ?

(A) Temporary current assets financed with long-term liabilities

(B) Permanent working capital financed with long-term liabilities

(C) Short-term assets financed with equity

(D) Al current assets financed with 50% equity and 50% long-term debt

Efficient portfolio can be defined as those portfolios which for a given level
of risks provide :

(A) Maximum returns (B) Average returns

(C) Minimum returns | (D) None of these

Which: of the following is not a major trading centre of foreign exchange ?
(A) Singapore ‘ (B) Hong Kong

(C) Tokyo ' (D) London
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38.

39.

40.

41.

42.

43.

| Arbitrageurs in foreign exchange markets :

(A) Attempt to make profit by outguessing the markets
(B) Need foreign exchange in order to buy foreign goods
(C) Take advantage of the small inconsistencies that develop between markets

(D) Make their profit through the spread between bid and offer rate of
exchange

Foreign currency forward market is :

(A) An over-the-counter unorganised market

(B) Organised market without trading

(C) Organised listed market

(D) Unorganised listed market

The date of settlement for a foreign exchange transaction is referred to as :
(A) Clearing date | (B) Swap rate

(C) Maturity date (D) Value date

If the AM and GM of two numbers are 6.50 and 6 respectively, then the two
numbers are :

(A) 6 and 7 (B) 9 and 4

(C) 10 and 3 D) 8 and 5

A shift of origin has no impact on : |

(A) Range and Quartile Deviation (B) Mean Deviation
(C) Standard Deviation (D) All of these

The regression equation of Y on X is, 2X + 3Y + 50 = 0. The value of byx
is :

(A) 2/3 (B) -2/3
(C) -3/2 (D) None of these

T.B.C. : 04/18/SET—II 18
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44. If P(AnB)=0, then the two events A and B are :
(A) Mutually exclusive (B) Mutually exhaustive
(C) Collectively exhaustive (D) Independent
45. In Binomial Distribution, formula of calculating st;andard deviation is :
(A) Square root of p . (B) Square root of pq
(C) Square’ root of npq - (D) ‘Square root of np
46. A treatise on a single subject is called :
(A) Monograph (B) Report
(C) Synopsis (D) Research Article
47. A Type I error occurs when one :
(A) rejects a false null hypothesis
(B) rejects a true null hypothesis
(C) does not reject a false null hypothesis
(D) does not reject a true null hypothesis
48. The sampling error arises due to :
(A) Investigator’s bias (B) Data prgcessing problem
(C) Respondents bias (D) Sampling method applied
49.  Set of raw data arranged in ascending or descending order is called :
(A) Ordered array (B) Nominal array
(C) Ordinal array (D) Interval array

50. The chronological development of information in the body of report is done

according to :
(A) Choice of writer ‘ (B) Collection of data

(C) Logical sequence of events (D) Order in which events occurred
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51.  Match the items of List IT with the items of List I and select the code of
correct matching. The items relate to approaches to Management along with
their key characteristics/focus.

List I List II
(@) Interpersonal Behaviour (1) Interaction with the external
Approach environment
(6) Group Behaviour Approach (2) Focus on Human Relations,
Leadership
(c) Systems Approach (3)  Based on Sociology and Psychology
(d) Operational Approach (4)  Distinguishes between managerial

and non-managerial knowledge

Code :

(@ @) (@© @
@ @ @@ G @
B @2 @ O @
@€ & @ @O @
M G @ @ @ _

52.  Organizational structure primarily refers to :

(A) How activities are éoordinated and controlled
(B) How resources are allocated
(C) The location of departments and office space
(D) The policy statements developed by the firm

53.  The following are three statements about delegation of authority. Indicate
the correct code of the statements being correct or incorrect.

Statement (I) : Distributing authority in an organization begins with
delegation.

Statement (II) : The delegation process involves four basic steps.

Statement (III) : The first step in the process of delegation is granting
authority.

Code :

(A) All three statements are correct

(B) All three statements are incorrect

(C) Statement (I) is correct while Statements (II) and (ITT) are incorrect

(D) Statement (I) is incorrect while Statements (II) and (ITII) are correct
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o4.

55.

56.

The following are the two statements regarding Vroom’s expectancy theory
of motivation. Indicate the correct code of the statements being correct or

incorrect.

Statement (I) : When a person is indifferent about achieving a certain goal,

a negative valence occurs.

Statement (II) : A person would have no motivation to achieve a goal if
the expectancy were zero or negative.

Code :

(A) Both the statements are correct

(B) Both the statements are incorrect

(C) Statement (I) is correct while Statement (II) is.incorrect
(D) Statement (I) is incorrect while Statement (II) is correct

The following are the two statements regarding ethics. Indicate the correct
code of the statements being correct or incorrect.

Statement (I) : Ethics is not a practical science.

Statement (II) : Ethics does not rest on feelings of approval or disapproval.
Code :

(A) Both the statements are correct

(B) Both the statements are incorrect

©) Statement (I) is correct while Statement (II) is incorrect

(D) Statement (I) is incorrect while Statement (II) is correct

Swayam Pvt. Ltd. has decided to allow its front line workers to take decisions
regarding the ordering of certain office supplies that were previously carried
out only by managers. This initiative is an example of :

(A) Job Redesign (B) Management Development

(C) Workplace incentives (D) Employee Empowerment
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97.  Match the items of List II with the items of List I and select the code of
correct matching. The items relate to meaning of different types of equities
in compensation.

(a)

b)

(c)

List I List II

Internal Equity (1) Equity that exists when an
employer pays a wage rate
commensurate with the wages
prevailing in external labor
markets.

Individual Equity (2) Equity that exists when an
employer pays wages commensurate
with the relative internal value of
each job.

External Equity (3) Equity that exists when an
' employer compensates individuals

who are in similar jobs on the basis

of variations in individual

| performance.

(d) Personal Equity (4) Equity that exists when an
employer pays a wage rate that
satisfies an employee’s own
perception of his or her worth.

Code :

@ B © (@

Aa @ @2 @ @

B @ B @O @

€ @2 & O @

D 2 O @B @

58.  Which of the following combinations are future oriented performance appraisal
methods ? ,
(A) MBO, Psychological Appraisal, Assessment Centres, Critical Incident

Method & .

(B) Assessment Centres, MBO, Multi-source feedback, Psychological Appraisal

(C) 360 Degree Appraisal, Assessment Centres, MBO, Field Review Method

(D) MBO, 360 Degree Appraisal, Paired Comparison Method, Psychological

Appraisal
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59.

60.

Match the items of List II with the items of List I and select the code of
correct matching. The items relate to personality.

List I List II
(@) Self-monitoring (1) A personality trait that measures

an individual’s ability to adjust his
or her behaviour to external,
situational factors.

(b) Proactive personality (2) A personality dimension that

describes someone who is
responsible, dependable, persistent,
and organized.

(¢) Conscientiousness (83)  The degree to which an individual
is pragmatic, maintains emotional

distance, and believes that ends
can justify means.

(d) Machiaveillianism (4)  People who identify opportunities,

show initiative, take action, and
persevere until meaningful
change occurs.

Code :

(@ B @ @
a 2 O @ 3
B 1 @ @ A
€ @ @©» 2 3
M 1 @ @ O

Which one of the following is true about tips for effective communication across
cultures ? '

(A) Learn the language of parent country
(B) Be aware of the fact that cross cultural barriers do not exist
(C) Be sensitive to non-verbal communication

(D) Learn not to neutralize language accents
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61.

62.

63.

64.

Merchant Banking is an example of :
(A) Financial instrument (B) Financial institution
(C) Fund-based financial services (D) Fee-based ﬁnancia-l'services

Type of institutions that write securities, engage in brokerage and security

trading are known by the following name :
(A) Trading institutions (B) Activity institutions
(C) Investment banks (D) Mortgage banks

An open market operation is an instrument of monetary policy which involves

buying or selling of ................... from or to the public sector banks.
(A) Bonds and other Securities (B) Debentures and Shares
(C) Government Securities (D) None of these

Match the items of List II with the items of List I and select the code of

correct matching.

List 1 ‘ List II
(@) Basel II (1) Focus on Capital Adequacy of
Financial Institutions
(b) Basel III (2)  Three series of banking regulations
(c) Basel Accord (3) Tighter Capital Requirements
(d) Basel I (4) Revised Capital Framework
Code :

@ ) @ @
Aa @B @ @ @
B @ @ @ @
€ @ @ @B @
O @ 1 @ O3
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61.

62.

63.

64.
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.65.  Match the items of List I with the items of List I and select the code of
correet matching.

List I
(@) NEAT
) CAC-40

(¢) FTSE-100

(d) SP-500

Code :

(@)
A @)
(B) (2)
©) @
D) (@)

6)
(2)
(3)
(1)
1)

(c)

(4)

(1)

@

(4)

(d)
1)
(4)
@)
(3)

(1)

(2

3)
(4)

List II
Prominent stock index of France
Stock Exchange in London
Stock Exchange in USA

Online trading system of NSE

66. Close-ended funds have lower cash requirements than open-ended funds

because :

(A) Open-ended funds pay more taxes than closed-ended funds

(B) Open-ended funds allow investors to redeem their shares at any time
(C) Close-ended funds have limited life times

(D) Open-ended funds tend to invest in less liquid assets

67. Which of the following statements is incorrect ?

(A) The Indian financial system is regulated by ten major regulatory bodies

(B) FMC stands for Forward Market Commission of India

(C) SEBI is a regulatory body for the securities market

(D) RBI is an apex monetary institution
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66.

67.
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68. ,' Financial inclusion means the provision of :
(A) Ration at affordable cost to persons not yet given the same
(B) House at aﬁ'ordable cost to persons not yet given the same
(C) Education at affordable cost to personé not yet given the same

(D) Financial services namely payments, remittances, savings, loans and

insurance at aﬁ'ordablg cost to persons not yet given the same

69. Assertion (A) : Internet banking is known as virtual banking.
Reasoning (R) : There are no bricks and boundaries in virtual banking.
Code :
(A) (A) and (R) both are correct; and (R) is the right explanation of (A)
(B) (A) and (R) both are correct; but (R) is not the right explanation of (A)
(C) Both (A) and (R) are incorrect |
(D) (A) is correct; but (R) is incorrect

70. Which of the following is not one of the principles of insurable risks ?
(A) The occurrence of loss must be accidental and unintentional
(B) The loss must be determinable and measurable
(C) The loss should not occur due to catastrophic circumstances
(D) The size of the loss exposure units must be small

71. The gap between marketing potential and market minimum is known as :
(A) Marketing Gap
(B) Market Forecast
(C) Market Sensifivity of Demand

(D) Sales Potential
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72.

73.

74.

75.

76.

11

Brand extension means :

(A) Adding new models to the existing range of a brand
(B) Extending the brand name to some new product

(C) Adding more brands to the firm’s portfolio

(D) All products are marketed under the same brand name

Charging different price for the same product or service to different customer

groups is called :

(A) Product form pricing (B) Customer segment pricing

(C) Location pricing ' (D) Time pricing

Which of the following is not a part of the marketing communication mix ?
(A) Advertising (B) Public Relations

(C) Sales Promotion (D) Telemarketing

Which of the following is a specialized e-tailing website ?

(A) Lenskart (B) Flipkart

(C) Amazon D) My%tra

Which of the following is not part of buying process sequence ?
(A) Need Recognition (B) Information Search

(C) Evaluation of Alternatives (D) Dissonance Reduction

Select the name "of the country having maximum per cent of GDP attributed

to services :
(A) United States of Arperica. (B) China
(C) Germany (D) India
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72.

73.

74.

75.

76.

71.
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78.

79.

80.

81.

82.

83.

Which of the following is a C2C platform ?
(A) olx (B) Croma Retail
(C) Reliance Digital (D) Grofers

................... enables business to form relationships with their distributors,
resellers, suppliers etc.

(A) B2C (B) S2C
(C) C2C - (D) B2B
Firm’s market offering are divided into .............ccooecee...... 14 [0 TR elements.

(A) Core Product; Supplementary Service

(B) Marketing, Management

(C) Product, Delivery

(D) Service, Delivery

As per Section 2(52) of the CGST Act, “goc;ds” does not include :

(A) Actionable claims (B) Grass

(C) Growing crops (D) Securities

Aggregate turnover does not include :

(A) Inward supplies on which tax is payable on reverse charge basis
(B) Exempt supplies | | |
(C) Export of goods or services or both

(D) Inter-state supplies of persons having the same PAN

Which of the following transactions does not fall in the ambit of bailment ?
(A) Delivering 'goods for carriage

(B) Delivering goods for repair free of cost

(C) Placing ornaments in a bank locker

(D) Delivering gold to a creditor to serve as security
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84.

85.

86.
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Monetary compensation award for the loss suffered as a consequence of the

breach is known as :

(A) Compensatory damages (B) Incidental damages

(C) Nominal damages (D) Special damages

Which of the following statements is not correct ?

(A) Consideration may move from the promisee

(B) Consideration may be past, present or future

(C) Conside;'ation need not be adequate but it must be sufficient

(D) Consideration need not be sufficient but it must be adequate

Which of the following is not correct in relation to a negotiable instrument ?
(A) It is freely transferable from one person to another

(B) There is no ceiling on number of transfers

(C) Transferee gets a better title than that of a transfer if he receives the

same for value and in good faith
(D) Transferor cannot transfer a better title than what he himself has

Which one of the following is not an essential element of a contract of sale

of goods ?

(A) Goods being the subject matter of the contract
(B) Transfer of dwnership

(C) Price .

(D) Delivery of goods
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wmémamgaﬁﬁma@mmmﬁ
g : -

(A) wfagfd afa (B) yrifs afq

(C) 7w aifa D) fafere afd

frefafen & @ ‘wFe o @ T/ T 2

(A) whiee aoEE ¥ o @ wEa

(B) Wiawel yd, Sd9M A¥en Wt o WHA

(C) Wiawe F1 II% &N oEvIE T ¥, Wy W TG e@wd B e
(D) WAl F1 TG B AowEF T ¥, WY W A v a Ay
frafafen & & =7 v foem & day § od w8 § 2

(A) I8 TF AfF ¥ TR [ ok @ad §9 9 Sy ¥

(B) ool ® wE UG dw w §

() ﬁaﬁﬁaﬁmmmwﬁamm%ﬂﬁaﬁ{@a%mwﬁm
¥ oE W e &

(D) TIRUEHT % T W Wi ¢, 398 Yo Wi 98 =T T8 H g
frfafed & & =9 axqell =1 fost =) e &1 e Tew A ¥ 2
(A) % dfae #1 foom ®

- (B) w@ifiE &1 =

(C) Ha
(D) =gelt =+t gEm
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Minimum paid up capital required by a public limited company should not

be less than :

(A) Rs. 1 lakh (B) Rs. 5 lakhs

(C) Rs. 10 lakhs | (D) Rs. 20 lakhs

Which of the following statements is frue ?

(A) Doctrine of constructive notice arises from the doctrine of ultra vires

(B) Doctrine of constructive notice arises from the doctrine of indoor

management

(C) Doctrine of indoor management arises from the doctrine of constructive

notice
(D) Doctrine of ultra vires arises from the doctrine of constructive notice

Locke’s idea that 'a person has a natural right over the labour and/or pfoducts
which are produced by his/her body' is justified by which of the following
arguments ?

(A) Utilitarian-pragmatic argument

(B) dJustice argument

(C) Personality argument

(D) Utilitarian argument

X starts a business on October 20, 2018. His first previous year will be :

(A) Period com;nencing on October 20, 2018 and ending on March 31, 2019
(B) Period commencing on April 1, 2018 and ending on October 31, 2019
(C) Period commencing on April 1, 2018 and endiﬁg on October 20, 2018

(D) Period commencing on April 1, 2018 and ending on March 31, 2019
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wawE i da@ (fafiee) #udt gu aifeq =Aam yew dS fwat wmafen @
FY TE OB afgy 2

(A) 179@ % (B) 5 9@ %.

(C) 10 1@ %. (D) 20 @ .
fretfofen & 3w wo W@ & 2

A) e Afew w1 fagm sfterrda & fagra & o= @ @
(B) A& Afed w1 fagra sr<fie wEy & fag § 3= 9@ R
(C) oT=aftk ¥aiu &1 fagra s Afew & fagra & o= &
(D) sfyrrda & fagr s A & faga & 3= 3 &

e 1 g8 faar fe ‘frdt =fem o1 39 TR g SO ol 8 9 Sf/stgEn
IR W IGF Nofifs afusEr o &, Frefafee § @ g a9 g 3t Seoa

S § 7 |

(A) STRfTER-EEiE @ (B) = T

(C) =fFE D) wﬁﬁmmﬁa#
meﬁazowzmsaﬁg{am%lmmmwm
gm 2

(A) 20 3SR, 2018 &I J& T relt 3R 31 Ard, 2019 F GG B GTcl Aty
(B) 1 319, 2018 FI I[® BH arelt 3R 31 &R, 2019 F FHIG B dTel FHIeary
(C) 1aﬁa,zmsﬁ*ﬂaaﬁaﬁaﬁ‘r{2031@,2018@@@@#3@%13&1
(D) 1 38, 2018 ! I B Al AR 31 A€, 2019 H TG B Al HeEY
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EBL. -

X left India for the first time on April 11, 2017. During the financial year

2018-19, he came to India once on October 2 for a period of 45 days. His
residential status for the Assessment Year 2019-20 will be :

(A) Resident

(B) Resident and ordinarily resident
(C) Resident but not ordinarily resident
(D) Non-resident in India

An individual assessee will be liable to surcharge for the Assessment Year
2019-20 if his taxable income during the Financial Year 2018-19 exceeds :

. L
(A) Rs. 10,00,000 (B) Rs. 25,00,000
(C) Rs. 50,00,000 (D) Rs. 1,00,00,000

Who can claim deduction under section 80 GGA of the Income Tax Act, 1961,
for the Assessment Year 2018-19 ?

(A) Any individual

(B) All individuals not having any income chargeable under the head, “Profits
and Gains of Business or Profession”

(C) All assessees not having any income chargeable under the head, “Profits
and Gains of Business or Profession”

(D) Company/LLP

India does not have an avoidance of double taxation with a country X. A
resident and ordinarily resident in India, earn a business income of Rs. 4
lacs (no tax is payable in foreign country because the income is exempt in
that country). In this case :

(A) Relief will be calculated under Section 91 at the average rate of tax
applicable in India

(B) Relief will be calculated at the maximum marginal rate of tax applicable
in India

(C) No relief will be available under Section 91

(D) Such income will be exempt from tax in II;dia
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T.B.G, :

Xﬁll@‘c‘t,ZOﬂE’t%ﬁHﬂW%ﬂ‘e}Tl3432018—19%%3@@%
& 45 T # Efy & fAU TH R 2 sEESR W WK ol wv fyukw a9
2019-20 # 3TH! ERty fRufy = B 2

(A) et

(B) THardt @R "= dr W frerd
(C) fromdt dft g R W siframwd
(D) ¥rd ¥ sifamE

mﬁu&maﬁzmwoﬁmaﬁéémm@aﬁwﬁmaﬁﬁ?ﬁa
9 2018-19 H 3HH F-AT o “RT ¥ -

(A) 10,00,000 =. (B) 25,00,000 =.
(C) 50,00,000 =. (D) 1,00,00,000 .

T fuio o 2018-19 3 s afufrm, 1961 F u 80 ST & i
W FENA B AT B GHA ¥ 2

(A) =E ot =afE

(B) T sl =l et F-drg a1 ' oHergr stemn gfa & o T i
Wi & il F-drw T R

(©) W goft wem ot - e s awqfa@wuqaafww’
o & orwia H-dr T E

(D) /T T

WA 1 X <V % WY SR FUUE Y T2 K TEEE T ¥ | IRG T S SR
W YR § @ T, P IR O 9 R IEETE G B (X2 # 30 FE
F A T qEA FifE IgH W W W F wE WW ¥) @ oA F

(A) #1091 % STFIq e FT T WRA H TR X H sid wX A T
(B) Ted Wt T WG H gt R B Afhan S @ @ IER w1 W
(C) 9/ 91 % =Tl HE Tga &I foen
(D) Tt 3 = 9yRa ¥ X ¥ w2 faorh

04/18/SET—II - 45 P.T.0.



96..

91.

98.

99.

100.

Tax hedging within the framework of law is termed as :

(A) Tax avoidance - (B) Tax evasion

(C) Tax planning ‘ (D) Tax management

To constitute arm’s length price which of the following is not relevant ?
(A) The price should be applied of proposed to be applied in a transaction
(B) The tran’saction is between related persons

(C) The transaction vis between unrelated persons

(D) The transaction is taking place in uncontrolled conditions

Rebate under Section 87 A of Income Tax Act, 1961 is available for the

Assessment Year 2018-19 in case of :

(A) Resident individual if his/her taxable income is Rs. 3,50,000 or less
(B) Resident individual if his/her taxable income is Rs. 5,00,000 or less
(C) Every assessee if his/her taxable income is Rs. 3,50,000 or less

(D) Every assessee if his/her taxable income is Rs. 5,00,000 or less

Income-tax Return Form ITR - 1 (SAHAJ) can be used by an individual whose

total income does not exceed :
(A) Rs. 25,00,000 (B) Rs. 30,00,000
(C) Rs. 50,00,000 (D) Rs. 1,00,00,000

Every person (except a resident senior citizen not having any income from
business/profeséion) is liable to pay advance tax for the Assessment Year

2019-20, if advance tax payable is :
(A) Rs. 5,000 ¢ (B) More than Rs. 5,000

(C) Rs. 10,000 or more (D) More than Rs. 10,000
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T F TR F WO W o ww ww d

(A) & 9§ g9 (B) = = IR

(C) * frem (D) N yau
mmmﬁﬁﬁﬁﬁﬁﬂﬁfﬁgﬂﬁﬁﬁ?mwﬁ%?

(A) =% M o foel Hormer # @ fFa s ¥ o o B W v a g
(B) WomeeR Wag @i & oftw # o &

(C) WoAoRR srHag @ril & e § 9 &

(D) WoraeR SifEfyd qwmedl § & w

AR SAffrem, 1961ﬁm87qa%mﬁamﬁmaﬁzols-19%§ﬁm
iR i 2

(A) Tramt =fe fwt # dra e 3,50,000 39 A1 SER w9 ¥

(B) frawt =afm af so#t # 9m9 a®™ 5,00,000 = T I w9 &

(C) ¥IF FWE AR IFH F A A= 3,50,000 T A WY F7

(D) ¥eIF FXAI A SHH H A T 5,00,000 T A TR FH %

A foralt W oA eR-1 (VW) W R ot s gm s fee
a1 § fomst we o -

(A) 25,00,000 % ¥ =T 7 | (B) 30,00,000 % & w=T 7 @
(C) 50,00,000 % ¥ RN 7 & (D) 1,00,00,000 % ¥ wEET 7 &

mwﬁa(ﬁmﬁa@aﬁ%mﬁmﬁw@?ﬁﬁémﬁ%aﬁ
F frafor o 2019-20 & faw fm w3 3, AR ofim W ) 29 TR R

(A) 5,000 %. (B) 5,000 % ¥ 3fm
(C) 10,000 %. 1gar 399 o1fimw D) 10,000 & T 2=
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